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7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHQQJDQDOLVLV� HIHNWLYLWDV� GDQ�
NRQWULEXVL� SDMDN� EDKDQ� EDNDU� NHQGDUDDQ� EHUPRWRU� GDQ� XQWXN� PHQJHWDKXL�
SHQHULPDDQ� SDMDN� EDKDQ� EDNDU� NHQGDUDDQ� EHUPRWRU� WHUKDGDS� SHQGDSDWDQ� DVOL�
GDHUDK� GL� 3URYLQVL� 6XPDWHUD�%DUDW��0HWRGH� DQDOLVLV� GDWD� \DQJ� GLJXQDNDQ� GDODP�
SHQHOLWLDQ� LQL� DGDODK� DQDOLVLV� GDWD GHVNULSWLI� GHQJDQ� SHQGHNDWDQ� NXDOLWDWLI�� \DLWX�
PHWRGH� \DQJ� GLODNXNDQ� GHQJDQ� PHQJJXQDNDQ� VLVWHP� SHPXQJXWDQ� SDMDN� VHOI�
DVVHVVPHQW�V\VWHP�GDQ�PHQJJXQDNDQ�DVDV�IXQJVL�EXGJHWDLU�

+DVLO� GDUL� SHQHOLWLDQ� LQL� PHQXQMXNDQ� HIHNWLYLWDV� SDMDN� EDKDQ� EDNDU�
NHQGDUDDQ� EHUPRWRU� GDUL� WDKXQ� ����� KLQJJD� ����� WHUPDVXN� NDWHJRUL� HIHNWLI��
ZDODXSXQ� WDKXQ� ����� GDQ� ����� UHDOLVDVL� WLGDN� PHQFDSDL� WDUJHW�� 6HGDQJNDQ�
NRQWULEXVL� SDMDN� EDKDQ� EDNDU� NHQGDUDDQ� EHUPRWRU� GDUL� WDKXQ� ����� KLQJJD� �����
WHUPDVXN�GDODP�NDWHJRUL�NXUDQJ�EHUNRQWULEXVL�GDODP�SHQHULPDDQ�SHQGDSDWDQ�DVOL�
GDHUDK�SURYLQVL�VXPDWHUD�EDUDW�

.DWD� NXQFL �� (IHNWLYLWDV�� .RQWULEXVL�� 3DMDN� EDKDQ� EDNDU� NHQGDUDDQ� EHUPRWRU��
SHQGDSDWDQ�DVOL�GDHUDK�


